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No. of Questions : 150

Y9I @ W& : 150
Time : 2% Hours Full Marks : 450
1
A9 : 2, °WUC quIiE : 450

Note : (1) Attempt as many questions as you can. Each qucstion carrics 3

(Three) marks. One mark will be deducted for each incorrect
answer. Zero mark will be awarded for each unattempted
question.

SRR eHl Bl B HIA B T HL ) seiem g9 3 ()
3 F B gAF TAT IO B KR 0F 57F amer sy
SF ARG 99 H AD LT B |

(2) If more than one alternative answers seem to be approximate to
the correct answer, choose the closest one.

e TR Jepfeaes Sox wel sox @ Freve sdia &, at Preas
el IO 3 |

01. Grand central terminal park avenue, New York is the world's -

(1) Largest railway station (2) Highest railway station
(3) Longest railway station (4) None of the above

“WWWW@“&W”WW:
(1) T8 J31 W QR 8
(2) T For WY LI
(3) HIH T WA QI B

IEH F T B

P.T.0,
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02. Entomology is the science that studies :

03.

(1) Bahaviour of human being

(2) Insects
(8) The origin and history of technical and scientific terms

(4) The formation of rocks

‘TS fasT @ g8 Er § S oTeEE H ©
(1) |MFg % GBI Hl

(2) IR H |
(3) TN Td sl e W S qF 3T H
(4) weerdl & fAier @ '

FFC stands for :

(1) Foreign finance corporation
(2) Film finance corporation

(3) Federation finance corporation

(4) None of the above
‘FRC TIl-ed &

(1) Foreign finance corporation

(2) Film finance corporation

(3) Federation finance corporation



04.

05.

06.

16P/306/10

Where is the railway staffs college location :

(1) Pune (2) Allahabad
(3) Vadodara (4) Delhi
I ©IF FiesT FHel g g 8 7

(1) gor (2) FARER
(3) wgv (4) el

The famous dilwara temple are situated in :

(1) Uttar Pradesh (2) Rajasthan

(3) Maharashtra (4) Madhya pradesh
e ‘Rearer af<y’ wnfe fear = § .

(1) IOT wewr d (2) ToreET A

(3) werTE H (4) HesRT F

Bijapur is known for its :

(1) Severe drought condition  (2) Golgumbaz

(3) Heavy rainfall (4) Statue of gomateswara

FSMYR’ ST AT B

(1) ST4afgs gEnea aRRafEt & @ror
(2) M TS & FH

(3) oTHY®H aui & FHRor

(4) THEHRLER H OGRS F HROT

P.T.0.
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07. Which city is known as electronic city of India ?
(1) Mumbai ' (2) Hyderabad
(3] Gurgaon (4) Bangalore

BT A BT ‘IRT & FAFLNE e P A@r L7
(1) qeg (2) BEE
(3) T (4) TR

08. Siachenisa:
(1) Desert frontier zone between India and Pakistan

(2)- Frontier zone between China and India
(3) Frontier zone between India and Myanmar
(

4) Glacier frontier zone between India and Pakistan

R o
(1) ard 3R ik @ & @ e A a= w

(2) @i o 9Ra B i @ e A B
@) W AR =R F A= o dEeT 89 8

(4) 9RT SR GREE B S F AEr A e ®

09. "Vijay stambha" is situated in :

(1) Jaipur 2) Agra
3) Delhi (4) Chittor
o T’ T 2

1) g A (2) R H
@ Rt A (@) Fordlrs A



10.

1.

12.

13,
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National police academy is located at :

(1) Bangalore (2) Hyderabad
(3) Abu road (4) Dehradun
T gy Aepedr Reag B

(1) s (2) BEEE H
(3) ST H (4) TBUG H

The ratio of width of our national flag to its length is :

FAR A & A A ol = H oo D

(1) 35 (2) 2:3 (3) 2:4 4) 3:4

"Dandia" is a popular dance of :

(1) Punjab (2) Gujarat
(3) Tamil Nadu (4) Maharashtra
‘siivear U e T R
(1) 9SIg I (2) IO Fr
(@) TG H (4) TERTSE
The Rath Yatra at puri is celebrated in honour of which hindy QCi[y ?
(1) Ram (2) Jaganath
(3) Shiva (4) Vishnu
gﬁﬁww%a%ﬁaw%wﬁaﬂ?ﬂﬁaqﬁwg ?
1) @) SETY
@) R ) oy
7

P.T.0
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14. The National anthem was first sung in the year :
(1) 1911 (2) 1913
(3) 1936 (4) 1935

BHIRT M qo<ll R TMEAT T/-47 o
(1) &7 1911 H (2) &I 1913 H
(3) &7 1936 H (4) &9 1935¥

15. In which of the following festivals are boat races a special feature ?

(1) Onam (2) Rongali Bihu
(3) Navratri (4) Pongal
Heratt a4 A g § @ Rew oleR @ o e ST §
(1) 3T (2) AR R

(3) Faatx (4) T

16. Which is the highest gallantry award in India ?
(1) Paramvishishtatsevamedal (2) Paramveer chakra

(3) Kirti chakra (4) Veer chakra

qrd # dan & gared g S A e ?
(1) oo fafare @ar 9 (2) ITHER T
(3) @ = (4) dRTH

17. When is the world population day observed ?

97} October 4
(W Mey . July 11 |
4 u



18.

19,

20.
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foeaq sEE Raq’ g=m@r sl B -

(1) 31 7% & | (2) 4 STAER HI
(3) 10 RE=x (4) 11 @S H
The world environment day is celebrated on :

(1) April 7 (2) June 5

(3) August 6 (4) June 16

‘fasg qgtaeer Raq’ g™ oem 8

(1) 7 BT FH (2) 5 B

(3) 6 STTET I (4) 16 S @I

The red cliff line is a boundary between :

(1) India and Pakistan (2) India and China

(3) India and Myanmar (4) India and Afghanistan

Lsfaes 3@y €= 2 -
(1) 9Ra IR ufpa™ & f= (2) 9RT ok 9= 3 S
(3) WRG AR HFHAR & @ (4) W AR TENErET 3 9=

The state having a largest area of forest cover in Indig is -

(1) Arunachal Pradesh (2) Haryana
(3) Madhya Pradesh (4) Assam
TR H T8 T T8F |aifeyp g & &
(1) STSUEA T3S (2) BREoT
(3) AR (4) Sy

9

P.T.0,
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21. The only state in India that produce saffron is :

(1) Assam (2) Himachal Pradesh
(3) Jammu and Kashmir (4) Meghalaya

AR FT THAH ToT ST BHET F INET AT &

(1) omEH (2) =R R
(3) 97 3R &eiiR (4) Herg
22. The oldest oil field in India
(1) Ankleshwar, Gujarat (2) Bombay, Maharashtra
(3) Nawagam, Gujarat (4) Digboi, Assam
AT A . Aty YU oo &= ... qeg:
(1) SfFaIsaR, JorTa (2) S, WERTSE
(3) e, T (4) fEEg, e
23. The oldest mountain in India are :
(1) Aravali (2) Vindhya
(3) Satpures (4) Nilgiri hills
e o e [ gEd @
(1) St () Fere
(3) HAgst [4) T e

Which scientist discovered the radioactive element radium ?

(2) Albert Einsten

24,
(1) Isaac Newton

(3) Benjamin Franklin (4) Marie Curie

10



25.

26.

27.
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frer asi~er 3 e oot o Wegw’ @t @ #it -

(1) S=STH ged (2) STTEe AREM
(3) SIS el 4) 7O =g
What Galileo Invented ?

(1) Barometer (2) Pendulum clock
(3) Microscope (4) Thermometer
dfiferr F /AR Rear ?

(1) AHET @ (2) Aoz o
(3) gewashl & (4) gHiHET @

In which decade was the telephone invented ?

(1) 1850s (2) 1860s

(3) 1870s (4) 1880s

e 2o | gAY @ AR gow ?
(1) 1850 (2) 1860 #
(3) 1870 (4) 1880 %

The members of the RajyaSabha are elected by :
(1) The people

(2) Loksabha

(3) Elected member of the legislative assemply

(4) Elected member of the legislative coypc;)

11
P.T.0,
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28.

29,

TEA T3 YA Ad 8

(1) @FF & T

(2) @SS B

(3) fgrrasm & g7 gu gl BRI
(4) Taem oRwg 3 g9 gu et =

The minimum age to qualify for election to the loksabha is :
(1) 25 years (2) 21 years
(3) 18 years - (4) 35 years

AR T T H R F7 A T oMEATE IH 8

(1) 259 (2) 21ad
(3) 1849 (4) 35ad
The headquarter of the UNESCO is at :
(1) Rome (2) Geneva
(3) New York . (4) Paris
(1) = H (2) Star
(3) =i H (4) IR\ #
' tries is not a member of the G-8 Group ?
. oh of the following coun

A0 Wl (2) France

(1) Germany
(4) Spain

(3) Italy

12



31.

32.

33.
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fret & & 9 &1 2 S-8 |9’ & deH T8l ©

(1) S (2) wE

(3) ze=h (4) &

The main aim of SAARC is :

(1) Regional cooperation (2) Internal affairs

(3) Non-Alignity (4) Peaceful co-existence
| H O 329 ©

(1) €f¥Her |84t (2) HI<ieb HiHA

(@) TR wEERT (4) smfeaqel wBIRa™

When was the south Asian association for regional co-operation
(SAARC) formed ?

(1) 1985 (2) 1982

(3) 1986 (4) 1987

g wedln 2y afeT TR §9 (SAARC) @ WO Ha g ?
(1) 1985# (2) 1982 ¥

(3) 1986 H (4) 1987 #

The International court of justice is located at :

(1) Geneva . (2) Hague

(3) Amsterdam (4) Vienna

SIS =N Ry §

(1) SHar (2) 2

(3) IReEH H 4 R
13

P.T.0.
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34. India won its first Olympic hockey gold in :

35.

36.

37. Whe

(1) 1928 (2) 1932

(3) 1936 (4) 1948
aT # geer saftgs 2t @t gaw Sfrar o ?
(1) 1928 # (2) 1932 H

(3) 1936 F | (4) 1948 7

Who was the first ODI captain for India :

(1) Ajtwadekar (2) Bishensinghbedi
(3) Nawabpataudi (4) Vinoomankad
G & A0 e UHCIHT HE BIF o

(1) STofid areay (2) fas= fe &
(3) e g (4) forg wws

The "Dronacharya” award is given o :

(1) Sportsman (2) Coaches

(3) Umpires (4) Sports editors
o T A SR8

(1) ﬁgm%?ﬁ & (2) H=F G|

(3) Sl & (4) O HUED

ce did the first ODI played in India ?

. Ahmedabad
(1) New Delni i

(4) Mumbai
(3) Kolkata

14



38.

39.

40.
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g & UsT Uhieadg 9 wel @dr mr ?

(1) =18 Rar (2) STEHEER

(3) IeTERTE (4) F=g

In India the first television programme was broadcasted in ?
(1) 1959 (2) 1965

(3) 1976 (4) 1957

HRA H 98T GRS HrdsbH b AT [mEr 4y 7
(1) 1959 # (2) 1965 #

3) 1976 (4) 1957 &

Who is the father of English poetry ?

(1) Milton (2) Words Worth
(3) Chaucer (4) Charles dickens

‘SIUST &g PT 596’ HI & ¢
(1) e (2) TS
(3) 9T 4) =g o

The farnbus book "anandmath" was authored by :
(1) Sarojininaidu

(2) Bankim Chandra Chattapadhya

(3) Sri Aurobindo

(4) Rabindranath Tagore

15
P.T.0.
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aE gEs M=’ fhed s ot 2 ¥ 7
(1) | g (2) @fFH o= FEMTE™
(3) =it erfer= (4) =T 3R

41. Usted Mansur was a famous painter in the region of :

(1) Shahjahan
(2) Akbar

(3) Humayun

(4) Jahagir
TR AU e & & ufeg e & 7
(1) smesTer (2) STHEY
(3) Ry (4) SRR
42. B.C. Roy award is given in the field of :
(1) Music (2) Journalism
(3) Medicine (4) Environment
9.4 G sEE Rar s @ |
(1) @ifid & &5 | (2) TSI & & H
(3) Tafeeem & &= # (4) gaERer & &= H
43. To whom was "bharatratna" awarded in 1992 ?
(1) Latamangeshker (2) Amartyasen
(3) M.S. Subbulakshmi (4) Atalbihari Vajpayee
a8 1992 F R ‘AT T W W T T
(1) T HALHT (2) o 89
BMHWEW@ (4) ored [Tl ard

16
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44. The world's highest waterfall is in :

(1) Brazi (2) USA

(3) Venezuela (4) Zambia
gaT &1 qE9 a1 ST §

(1) Softer | _ (2) g.u9.q. ¥
(3) aASguem (4) SnieEr

45. The great Victoria desert is located in :

(1) Canada (2) West Africa
(3) Australia (4) North America
‘oM fageiiar TEem §
(1) HreT | (2) ufdesdt sTprmr F
(3) oifegicoran (4) ST mAfrmr
46. The largest country of the world by geographical ares is -
(1) Russia (2) Vatican city
(3) Australia (4) USsA
AR HBA B AUR qx AT B GEY TS B D -
(1 &9 (2) afewT R
(3) SffeEsfe (4) guE.
47. The leading state in producing paper is :
(1) Bihar (2) West Bengg]
(3) Kerala (4) Orissa
17

P.T.0,
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48.

49.

T IS H ST I T
(1) foer (2) uf¥Em &
(3) (4) I

20" august is celebrated as :
(1) Earth day (2) Sadbhavana divas
(3) No tobacco day (4) None of these

20 T &1 HEET ST 8

(1) geft fRgg & &9 & (2) HewET Raw & &9 #
(3) e oy Raw & &9 9 (4) zH § HS T

The percentage of irrigated land in India is about :

arxer 7 Riftra o a wfererdar et €
(1) 45 (2) 65 (3) 35 (4) 25

50. The only private sector refinery setup by reliance petroleum Ltd. Is

located as :
(1) Guwabhati (2) Jamnagar
(3) Mumbai (4) Chennai

18
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52.

S3.

54.
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The most fertile region of India is :

(1) The Himalayas (2) The central highlands
(3) The indo-gangetic plain (4) Peninsular plateau
aRA # qaifees A 8 B

(1) fRmw & & (2) = gddEm gur
(3) 3IUSH-TM F ATH (4) 9IEGE 9o

Ministry of tourism initiated the "swachhparayatan mobile app". It
has included how many adarshsmarak monuments ?

T WA YW e Hiagd O 6 41 & | 56 [
STEel IR i aREfd fhar A &7
(1) 18 (2) 21 (3) 23 (4) 25

The fourth edition hockey India league(HIL) title has been clichéd by
which of the following ?

(1) Dabang Mumbai (2) Punjab warriorg
(3) Kalinga lancers (4) Ranchi rays

ﬁsﬁweﬁwmma@fﬂwmmﬁmﬁmm?

(1) ST grard (2) dUSTE et
(3) eHfeim sigd (4) ;R [
Todarmal was associated with :
(1) Music (2) Literatyre
(3) Finance (4) Law

19
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SS.

56.

57. India h

T gt F

(1) 0T | (2) @t @
(3) famy @ (4) fafr |
The Kalinga was fought in :

(1) 321BC (2) 301BC
(3) 261BC (4) 241BC

AT H gg ST T AT

(1) 3213.g. # (2) 301 2.9. #
(3) 261 $.9. & (4) 241 2.3. H
ICAO stands for :

(1) International civil aviation organization
(2) Indian corporation of agriculture organization

(3) Institute of company of account organization

(4) None of these

ICAO TH=ad & :

(1] [ntcrnational civil aviation organization
(2) Indian corporation of agriculture organization

(3) Institute of company of account organization

@ T A BT

qs largest deposit of ........... in the world :

1) G il (2) Copper

(3) Mica

(4) None of these

20
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59.

60.
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e %1 g=9 9ST........ H HUS W H T
(1) &= (2) WA
(3) THH 4) 38 | +Hg TE

How many loksabh seats belong to Rajasthan ?

TTYH § feha=il drpgar g ¥ -

(1) 32 2) 25 (3) 30 (4) 12

India first atomic reactor was

(I} Zerlina (2) Dhruba
(3) Apsara (4) Kamini
WA W GEll 9T el ot
(1) ST (2) g
(3) s (4) I
India first ocean wave's energy project was launched jp, :
(1) 1981 - (2) 1991
(3) 1995 (4) 2000
S F e G AT Il GRS I ) e
(1) 1981 # (2) 1991 ¥
(3) 1995 # (4) 2000 3
21
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61. Look at this series 36,34,30,28,24,

near .
& T YT B T 36,34,30,28,24,........ ST & &1 erl ?
(1) 20 (2) 22 (3) 23 (4) 26

Direction : You will choose the word that is a necessary part of the

underlined word.(question no. 62 to 64)

Frer & & e o1 gl | o it 9Tes B O STEREH I el | (e

g 62/ 64)
62. Desert :
(1) Cactus (2) Arid
(3) Oasis @) Flat
I
(1) FFw (2) R
(3) T (4) THIA
63. Language :
(1) Tongue (2) Slang
(3) Wwriting (4) Words
o
(1) e (2) oS

22
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64. Pain:
(1) Cut (2) Burn
(3) Nuisance (4) Hurt
ga -
(1) = (2) ST/
(3) smET (4) =<

Direction : Choose the pair that best represents.a similar relationship to
the one expressed in the original pair of words (question no. 65 to 66).

M= A 8§ uF Sigr g8 ot RY W qa o8 @ 999 ol aie
TS QIR & (999 9 65 9 55 )

65. INTEREST : OBSESSION :

(1) Mood:feelings (2) Weeping:sadness

(3) Dream:fantasy | (4) Plan:negation

T © JqT -

(1) HAE:-STFHRT (2) TAT-I=Re

(3) GUATHTIAT (4) ASFTEAFHR
66. Domicile :

(1) Tenant (2) Dwelling

(3) Kitchen (4) House

arg e

(1) FrUTER (2) S

(3) TEEEY (4) =T

23
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o7T.

68.

69.

A and B invest in a business in the ratio 3:2 if 5% of the total profit
goes to charity and A's share is Rs.855 the total profit is :

(1) Rs. 1425 (2) Rs.1500
(3) Rs.1537.50 (4) Rs.1576

ATIBUF FaaE § 3:2 B Fgu # e #xa ¥ 3 Ha O
7 5 i U ewtel w@ed @ Rar ST B 3N F T R 855

T. BN G AT Y
(1) 1425%. (2) 1500%.
(3) 1537.50 5. (4) 1576 %.

A sum of money at simple interest amount to Rs.815 in 3 years and

to Rs. 854 in ycarS.Thc sum 1s :
(1) Rs.650 (2) Rs.690
(3) Rs.098 (4) Rs.700

mmmqﬁémeﬁqa&ﬁswawmaﬁﬁsms.
3 oy & 1 98 €9 &

(1) 650%. (2) 690%.

(3) 698%. (4) 700%.

(112#5%)=?

(1) 67000 (2) 70000

(3) 76500 (4) 77200

(112*54=?

(1) 67000 (2) 70000
(4) 77200

(3) 76500

24
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71.

72.
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107%107+93*93=7
(1) 19578 - (2) 19418
(3) 20098 (4) 21908

107*107+93*93=?
(1) 19578 (2) 19418

(3) 20008 (4) 21908

On selling 17 balls at Rs. 720, there is a loss equal to the cost price of

S balls. the cost price of ball is :
(1) 45 (2) S0
(3 55 (4) 60

17ﬁﬁ7zos.ﬁ%ﬁw,sﬁﬁaﬁww%waﬁ
B B W B A ger gy

(1) 45%. (2) 50%.
(3) 55%. (4) 607%.
(2:39F - (1.61)°

Evaluate: 239161 "

(2-397 - (1.61)2

.__-—_.—__'"""-——-—-____
LINEERIEN R
(1) 2 (2) 4 (3) 6

(4) 8

25
P.T.0,
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73.

If a-b=3 and a?+b?=29, find the value of ab :

At a-b=3 GT a2+b2=29 & & ab & AM BEDI LIS
(1) 10 (2) 12 (3) 15 (4) 18

74. A sum of money is to be distributed among A,B,C,D in the proportion

75.

76.

of 5:2:4:3 if C gets Rs. 1000 more than D, what is the B share ?
(1) Rs.500  (2) Rs.1500
(3) Rs.2000 ' (4) None of these

£ 67 ABC qT D & S 5:2:4:3 B A 7 ey o ¥ 1 A
C A D F 1000 &. AEEH W T A BB T E 7

(1) 500%. (2) 1500%.

(3) 2000%. (4) SugF # | P T

If0.75:X; 5:8, then X is equal to :

af% 0.75:X; 5:8 & X & AF B
(1) 1.12 (2) 1.2 @) 125 4) 1.3

plw

then

w (N

o . 1
If Rs. 782 be divided into three parts, propotionals to E‘.

the first part is :

(1) Rs.182 (2) Rs.190

(3) Rs.196 (4) Rs.204
z:rf&”f&ﬁ.ﬁfﬁﬂwﬁﬁ %:%:% 3 ot F dfer STM &\ A
qee W ©

(1) 182%. (2) 190%.

(3) 196%: (4) 204°%:

26
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79.
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What is found necessarily into milk ?
(1) Cream (2) Curd
(3) Water (4) Whiteness

A AEEH W Y FT 9 S
(1) =H (2) =&
(3) 9t (4) T

Which one of the following a "drama” must have ?
(1) Actors (2) Story
(3) Sets (4) Director

%Wﬁﬁ?ﬁﬁﬁ?@ﬁﬁwmﬁéﬁmm@q?
(1) S 2) Ferh
(3) FeH (4) s

Amit said "This girl is the wife of the grandson of my mother". How is
amit related to the gir] ?

(1) Brother "~ (2) Grandfather

(3) Husband (4) Father-in-law
wﬁﬁ%m%“ﬁaﬁﬁﬁwsﬁ%ﬁﬁaﬁwwﬁ}%
P IG TSH § R gy L7

(1) @ (2) =T Sft

(3) afer (4) TR
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80. The gtreatest number of four digit which is divisible by 15,25,40, and
7o1s:

TR 3l H g8 g€t @ gL &1 S 15,25,40 AT 75 W QU TXE
fefoe & ot 2 -

(1) 9000 (2) 9400

(3) 9600 (4) 9800

81. Key : Lock : : Switch ?

S (2 Fan
(3) Electricity @) on
Eﬂé}[ S G | B ﬁai[ ?
i e (2) d@r
(3) fecd a) i
82. 324 :CBD::4567
i) B (2) FED
(3) FDE (4) EFD
324 : CBD : : 456 ?
(1) DEF (2) FED
83. Select different number in the following :
ey foreedt 7§ = @ & g
(2) 12-144
(1) 8-64 |
(4) 13-169
@) 17-279
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85.
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Select different word in the following :

Fr=fofea fawedl & & =1 o= g
(1) KMN , (2) GHI
(3) DFG (4) OQR

In the following which represent the proper sequence :
(1) Stem (2) Leaf

(3) Flower (4) Roots

(5) Knop

A 4,1,2,5,8

B. 31,425

C. 1,2,3,5,4

. 2, 1,3,4;9

= Repedt & @ @9 =8l & |l &9 @ gurtar & -
(1) @ (2) 9w

(3) (4) T3

(5) el

A 4,1,2,5,8

B. 3,1,4,2,5

C. 12, 9;,9,4

D. 2,1, 3,4.5
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86.

87.

88.

ABDC, GHJI, MNPG, ?
(1) RSQP (2) STRQ
(3) RSUT (4) STVU

ABDC, GHJI, MNPO, ?

(1) RSQP (2) STRQ

(3) RSUT (4) STVU

Kusum is the wife of Ravi. Govind and Prabhu are brothers. Govind is
brother of Ravi. State relationship of Prabhu with Kusum :

(1) Cousin (2) Brother

(3) Brother-in law (4) Uncle

g, < @ aeht B 1 A ofiw wy Wi B M 0 @ g E
T ol A Q T RAME 7

(1) == 9% (2) %

(3) sEX-gA-l (4) =r=

Antonie was 1/2 of his present age before 20 years, what is present
age ?

(1) 20 years (2) 40 years

(3) 35 years (4) 30 years

Zowqga@a:ﬂaﬁa@m?ﬁaﬁmﬁaﬂg?ﬁuz o @ I

aeferr 913 FE
1) 20 (2) 40ad¥
3) 55 qd (4) 30ad
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90.

91.
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Which of following number is wrong ?

M= H a9 e g 7

3,9,27,81,243,730.

(1) 27 (2) 81
(3) 243 (4) 730
If 'L’ represent 'X','M' represent '+, 'P' represent '+', and 'Q' represent

'—', then the value of :

AL PR weer ® kM FERE wen ¥+, p R
gl + @Y 'Q FRRIE &var ¥1 ), & FrT @1 A ganRu

16P24M8Q6M2L3=?
(1) 6 2) 8 (3) 10 (4) 12

Lalit is elder than Prakash and Kishor. Mukesh is elder than Rakesh

but younger than lalit. Prakash is younger Rakesh but Prakash is

not youngest. Who is eldest in the following ?
(1) Lalit (2) Mukesh
(3) Rakesh (4) Kishor

aﬁm,qaﬂswﬁ’ssﬂ?ﬁﬂa%iﬂ%sr,ﬂ%sraaa%%aﬁma
afﬁa%mw@sﬁ@a%n%ﬁﬁmmﬂaﬁ@aﬁ% for=
GASECIECTE L |

(1) il (2) T

(3) T (4) Fsiz
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92.

93.

94,

If " where are you" is coded as Pik Da Pa, "you may come" is codad ax
Da Na Ja "he may go" is coded as Na Ka 3a, then 'Come' is represeict
for :

fefl e W1  Pik Da Pa %1 "o ‘ where are you', Da Na Ja I

Hade you may come', Na Ka Sa =1 A ‘he may go' & dl =1 g2
Tt & ‘Come' &1 Fpe@ W@l AT &

(1) Da (2) Ja (3) Ka (4) Na

Neelesh walked 3Km toward west and turned right, then walked 2Km
more, then turned left and walked Skm, at last he turned left and

walk 2Km more. Which direction does Neelesh stand from starting

point ?
(1) South (2) North
(3) West (4) East

ﬁﬁsrqﬁaqaﬁemsﬁﬁ.awaﬁ?ﬁeﬁ?g@swnﬁﬂaEQ
w,wumaﬁwsﬁﬁﬁ.w | A SRS = 4

fre faam A B 7
1) & (2) I
(3) = @

Mukesh is 12 times elder than his son. After 8 years Mukesh will be

¢ than his son age of Mukesh is ?
(2) 32 years

4 times elde
(1) 48years

4) 40 ycars
(3] 36 years ( )
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96.

16P/306/10

GO A O § g F 12 T 92 B 8 af anw gy o g @
4gmaééﬁ|3%sra%aﬁm=reﬂ'gw%?.

(1) 48ay 2) 32a¥

3) 36Ty (4) 40T

Ais son of B.F is father of C.F is son of D and B is daughter of D.
relationship of A with F i -

(1) Nephew | (2) Niece

(3) Cousin (4) Son-in-law
A?%BWCWWF%IFSQ%DW@?B@%”DE&!
AT F§ & gy 2 ?

(1) Hts (2) wtoh

(3) =T WIE @) TR

In a committee appoiﬁted for taken an inerview 5 members are sitting
linear in such that B is left of E, but right of A.D is right of C but left
of A. who Is sitting at middle ?

SEE AT A AT F P oy D 2
(1) B (2) A (3)

33
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97. 1f word "CODING" is coded as "EQFKPI" then "DECODE" should be
written as :

g T e 9T § ‘CODING' I EQFKPI fer@r =, d DECODE
Ft T =T =nfeu

(1) FGEQGF (2) FGEQFG
(3) FGEQEF (4) GEFQFG

98. Complete the following series :
R g@en &l IU HiRT
_Sr_tr_srs_r_srst_

(1) ttssrr (2) tsrtsr
(3) strirs (4) tstttr

99. KEC, LFD MGE,NHF,?
(1) OIF (2) OIG

(3) PHG (4) NIG

KEC, LFD,MGE,NHF, P

(1) OIF (2) OIG
'(3] PHG (4) NIG
100. Select the word which can be obtained from the letter of-
"REFRIGERATOR"
(1) RANGER (2) REMOTE:
(3) RATION (4) REFER
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Ra ma faeedi & & a8 s gl o PreifoRad s @ o @ a9
el & -

"REFRIGERATOR"
(1) RANGER (2) REMOTE
(3) RATION (4) REFER

101.1f "TWENTY" is coded as "863985" and "ELEVEN" as "323039" then
"TWELVE" will be coded as :

(1) 863203 (2) 863584
(3) 863903 (4) 863063

g% fhet | W § “TWENTY' i 863085 Rt ST 37X 'ELEVEN
I 323039 Rram sme @ S T W ¥ TWELVE' &7 g ga7
INICIIS | e

(1) 863203 (2) 863584

(3) 863903 (4) 863063

102. Average age of 8 members of a committee i1s 40 years. If a 55 years old
number is retired and a 39 year old new member is added, then what
Is present average age of committee ?
(1) 39 years (2) 38 years
(3) 36 years (4) 35S years
%Hﬁ%%eﬂam@qﬁaﬂ'ﬂﬁa@mw%,qﬁ%%w

b I I A Ao @) on B, ok @ a0
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103.1f 8+8=72:5+5=30 and 7+7=56, than 6+6=?

ARy 8+8=72:5+5=30 X 7+7=56, & &l 6+6=?
(1) 40 (2) 42
(3) 30 (4) 36
Direction : The following circular graph represents the spendings of a

country on various sports in a year. Solve question number 104 and 105
in the light of these data :

104. What percenf of total :

(1) 12.5% @) 127%

3) 22.5% (4) 45%
ﬁquﬁvaﬁ@ﬁﬁéﬁwmﬁrm@ﬁwwaéﬂﬁﬁ
T =g @ aiar 81 9T 104 G 105 FE TR 9T BA AL

ﬁammﬁf,ﬁmnﬁmﬁ@ﬁf?ﬁmw:

@) 45%

36



16P/306/10

105.1f total amount spent on sports during the year be Rs. 18000000,

then amount spent on cricket is :

(1) 5,050,000 (2) 4,050,000

(3) 3,801,504 | (4) 8,110,025

AR &l @t ) @d 5. 18000000 W AT g9 @ Rpar 4 ?
(1) 5,050,000 (2) 4,050,000

(3) 3,801,504 (4) 8,110,025

106. Read this paragraph and given the answer below (Questions No. 106
to 110).

The public sector banks are witnessing in India a period of transaction
and are at cross-roads, where they without giving up social
responsibility, should also remain healthy. They need to undertake
risky experiments. Yet perfowrm it innovatively In g way it does not
fail. They should make forays into new areas which are rarely treads
by them and loss no emerging opportunities. It should be understood
thatabsence of any bad advance is not sing of efficient banking system.
It only indicates. Immense, conservation. However this is no guarantee
for profit. There should be a balance between liquidity anqd rigi part

sins should be forgotten. Novel and pragmatic techniques should be
adopted without which banks would be in danger -

106. What according to author, are the public sector bagks -

. tnessing ?
(1) A period of profit (2) A period of Changes
3) A period of certain @) Al .
(3) ty 058 making e
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107. In addition to being socially responsible, what does the author want
the bank to be ?

(1) Customer-friendly
(2) Able to attract foreign investors
(3) Financially healthy

(4) Same less risk takers

108. How can the bank take risk without risking a failure ?
(1) By being innovation
(2) By soliciting the help of the government
(3) By being financially healthy

(4) By being conservative

109. What does the absence of any bad advance indicate ?
(1) A penchant for risks
(2) Immense conservation
(3) Financial independence

(4) Adeep seated social commitment

110. What would happen if novel and pragmatic techniques are ignored ?

(1)
() Willun

(3) will reveal th
(4) wil result in inefficient portfolio management

will put the bank in danger

dermine the bank social commitment

e untapped talent
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Direction : (question no. 111 to 120) ; Alternatives given for Idiom/phrases

underline in sentence chase the appropriate alternative :

111. By leaps and bounds :

(1) Very slowly (2) Very quickly

(3) Irregularly (4) Very systematically

112.1n long run : |
(1) Permanently (2) Universally

(3) Occasionally (4) Ultimately

113. We tend to take for granted the conveniences of modern life :

(1) To consider (2) To admit

(3) To accept ready (4) To care for

114. Syria is now currying favors with America :

(1) Pleasing (2) Favoring

(3) Obliging (4) Ingratiating itgejs with

115, She turns up her nose at this kind of dress :

(1) Despises (2) Loves

(3) See no harmin (4) Can trust tolerate

39
P.T.0.



16P/306/10

116. At last the rioters fell back :
(1) Felon the ground (2) Fielded
(3] Ranback (4) Turned back

117, Slow and steady :

(1) Slow buta continuous pace
(2)- Very slow
(3) Slow but not a continuous pace

(4) Not moving

118. Kitli and Kins :

(1) Strangers (2) Enemies
(3) Relatives (4) Friends

119.To run are down :

(1) Tobemna herry (2) To be weak and tired

(3) To disparage someone (4) To run down a lane

120.Run out : |
(1) Win (2) Out of stock
(3] Destroy (4) Expired

Direction (Question No. 121 to 125) : Four alternative given ups the

blanks:

you to have your radio repaired ?
(2) Price
(4) Cost

121. How much didit_____
(1) Charg¢
(3) Pay
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122.The child for the love of mother :
(1) Begged (2) Locked
(3) Longed (4) Asked

123.His singing is
(1) Best (2) Too good
(3) Much good (4) Very good

124.How many have you got :

(I) Ten rupess notes (2) Ten rupee notes

(3) Ten rupees notes (4) Ten rupee note
125.He is angry you :

(1) Against (2) On

(3) Upon (4) With

Direction : (Question No. 126 to 128) : In their questions, out of the four

alternative are given. Choose the word opposite in Meaning to the given

word.
126.1diosyncrary :
(1) Insanity (2) Sonity
(3) Generality (4) Singu‘arj{y
127.Sanguine :

(I] Difﬁdent [2) HODE‘Iess

(3) Cynical (4) Morore
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128.Sobriety :
(1) Moderation (2) Drunkenness
(3) Stupidity (4) Dizziness

Directions : (129 to 133) : In their question, group of four words are given

in each group, one word in correctly spent find the correctly spelt words.

129.

(1) Scmblence (2) Semblance

(3) Samblanc (4) Samblence
130.

(1) Gynecology (2) Gynaecology

(3) Gynaeccology (4) Gynecoology
131.

(1) Hypochondl‘ ia (2) Hyppochondrea

3) Hypochondrea (4) HYPPOChOHd,Tl?
e : s (2) Instantoneous

(1) [nstantancoy

R (4) [nstantanious
(3) Instanttanio

133. o (2) ltinerrary
(1) IltinarT

(3)

(4) Itinerary
[ttineraY
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Direction : (Questions No. 134 to 138) : of the four alternatives given
under each sentence find the one that best fits into the blank space and

completes the sentences meaningfully.

134.That the poor in our country are happy is :

(1) A dream (2) A vision

(3) An ideal (4) An illusion
135. of the any kind is demoralizing :

(1) Addiction (2) Habit

(3) Custom (4) Traditon

136.Every shakespearean hero has an internal in his character :
(1) Weakness (2) Defect

(3) Fault (4) Flaw

137.My father was too to push open the heavy dogr -
(1) Feeble (2) Faint

(3) Faltering (4) Fimid

138.No sooner did the principle enter the staff room

' the teachers
stood up in the respect -

(1) Than (2) Then
(3) Before (4) When
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Direction : (Question No. 139 to 144) : In the following question out of the
four alternatives choose the one which best expressed the meaning of the

given word as your answer:

139.Course :
(1) Path (2)* Difficult
(3) Rough (4) Definite
140.Vanish :
(1) Disappear (2) Decrease
(3) Encircle (4) Reveal
141. Spurious :
(1) Modest (2) Spontaneous
(3) Fake (4) Sincere
142.Absurd :

(1) Diligent (2) Ridiculous

(4) Complex

(3) Brisk

143.Solitary -
(1) Sad (2) Voluntary
) gubtle (4) Lonely
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144.Pacific :
(1) Extensive (2) Peaceful
(3) Deep (4) White

Direction : (Question No. 145 to 150) : In these question out of the four
alternatives are given, which can be substituted for the given words/

sentences and indicate it as your answer.

145. One who goes to settle in another Country :
(1) Immigrant * (2) Emigrant

(3) Alien (4) Citizen

146.Belonging to all parts of the word :
(1) Versatile (2) Universa]

(3) Cosmopolitan (4) Universal

147.0ne who walks on ropes :
(1) Funambulist (2) Upholsteres

(3) Acrobat (4) Aviates

148.The first model of a new device :

(1) Prototype (2) Sculpture

(3) Icon (4) Photograph

45
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149.A building where an audience sit :
(1) Aquarium (2)
(3) Auditorium (4)
150.Tough fissues in joints :

(1) Ligaments (2)
(3) Muscles (4)

46

Gymnasium

Stadium

Endoderm
Fibre
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ROUGH WORK
Th e

47
P.T.0,



vt & ferg fdwr
(swg@m%rwanamgswamm-wé‘;aﬁw‘w
| Faer Aet- el awr-wrge 47 8 & frd)

1, ngﬁaﬁﬁ%wﬁqz%wﬁi@%ﬁmﬁﬁwwW%sfnaﬁ%
W@ﬁ%lwmmaﬁmwﬁwmw-ﬁﬁ%ﬁiﬁm
e @ gEd g e &l

2. uﬁmwﬁmmm-w&'mﬁﬁ,ﬁ@mmaﬁ%ﬁwwm
H A ol

3 m—ww#ﬁmw?rsﬁ#ﬁﬁ?’aﬁr#ﬁﬁgwﬁrmm—waﬁ'ﬁmmz
e Fv-a% F7 & gEAET fHar A

. 3waq§wﬁmavnm-ﬁmmgmﬂm-g%mﬁ?@ﬁﬂfﬁﬂwwﬁ@

5. m—w%mww&?#mmmﬁuﬁwmwﬁﬁmﬁﬁ?qﬁa&
wmé’:ﬂ—ﬁmmﬁﬁm-g%wmﬁmﬁzmmm%ﬁmﬁ
W @]

6. aho wTo 3o UF UT IS WG, mgfiﬁaﬁ?#waﬁa#@w(aﬁa#’gi‘)am
Ty O AHAE a?raﬁo@oan?owmﬁmﬁﬁ'auﬁﬁmﬁﬁwﬁr

I

1. gﬁgimﬂ'ﬁ‘ﬁﬁvﬁﬂﬁﬁﬁﬁﬁ%mmﬁmmaﬁ#mmw T Igfad
e &1 FEnT A A

8. m_ma'mm%wwm@ﬁ?kmm%mmim
amﬁm—w#mﬁadﬁ%mﬁ#nﬁqwaﬁm-w%mgewféﬁﬁ
B 3 s 87 @ T & &

9. mm%aw%m%ﬁawéqaa‘rwaﬁ@ﬁaﬁ%qﬁaﬁmﬁ
mm@qﬂﬁmuﬁma@mwmmﬁm

w.mgﬁ@mmﬁmaﬁammaﬁwm?wﬁmﬁmmwm
qﬁemmg;ﬁmﬁﬁ%mﬁﬁén&mﬁqﬁﬁmwﬂfﬁwﬁww
g 1o s -

11.%@%%@3?'3@“%@%3@3@@”3%@%%%



